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Ia45—J)L EM-EEF 2.0-2C (#tBg™A) 630 m
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Ia45—J)L EM-EBT 0.4-2P ZAhHL 750 m
BRRT—TIL EM-0.5-10P ZAAL 60 m
Ia45—J)L EM-EBT 0.4-2P (B N) 60 m
BRRT—TIL EM-0.5-10P (& A) 10 m
BAR 1.2mm (&AM 200 m
Ta—J)L EM-EBT 0.4-2P (#tR§M) 90 m
BRRT—TIL EM-0.5-10P (#A§M) 10 m
BRE EP(25) L\ARLY 10 m
BRE PF(22) L\AARLY 100 m
AR ILE—)L AZ! 60 m
Ry X458 1.0 =
TILRYIR 150 X 150 x 100 ($f8k) 10 4
BHRAES 150 vyY 1852 8HB8IL X 1 50 #A
i % TB-11 1.0 @&
FOYIE 1.0 =K
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B1.1.8 TUEHAEERBTE (BRI
EEhr—7 I EM-S-5C-FB ZAAL 340 m
EEhr—7 I EM-S-5C-FB (B R) 40 m
EEhr—7 I EM-S-5C-FB (#A§H) 20 m
BiRE EP(19) &t 40 m
BRE PF(16) LMAARLY 20 m
BETE 1.0 =
TILRYI R 200 x 200 X 100 ($f k) 10 4
Ry X458 10 =K
TLEmF 13HF SH-7F 10 77
FOYIE 1.0 =K
WMEIE 10 =R
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Ta5—JI)L EM-HP 1.2-3C ZA AL 880 m
Ia7—J) EM-HP 1.2-5P ZA AL 290 m
Ta5—JI)L EM-HP 1.2-3C (&) 10 m
Ta5—JI)L EM-HP 1.2-5P (& A) 50 m
Ia5—JI)L EM-HP 1.2-3C (#H5M) 60 m
Ia5—JI)L EM-HP 1.2-5P (#fig M) 10 m
BRE EP(25) &t 50 m
BRE PF(16) LNA/ARLY 60 m
BRE PF(22) LNAARLY 10 m
ARILE—IL AZY 10 m
BETE 1.0 =K
RyHO X% 10 =
RHERARE—H— 40 7
RHERARE—H— ATT{ 60 7
TITHR—R— FeEIL—tH 40 4~
WEIE 10 =
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B1.1.10 R KFRANEKMHEIE (BRRIRS
Ia7—J)L EM-AE 1.2-4C ZAHL 870 m
Ia7—J)L EM-AE 1.2-4C (B ) 50 m
EiAEL PEIIR BMA 1H5A 10 4
RTLT AE 10 &
B ® 150 A 10 &
JHA AR BN IR N 10 &
Rk EHARRYAE 278 90 #
RFIES ERXARYAE  1FEREK 10 &
Rk ABRXARYLE 218 T|H 10 &
IRREE PE1Rk 10 I=E
WMEIE 10 =R
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1 IERESRESREIE 10 =R

2 1REHAKERIBTE 10 =R

3 1REHEKREIE 10 =

4 1BEHRSRIETE 10 =R

5 1fEAREWISE 10 =R

6 1PEZEFRRIETE 10 =R

7 1ERSEELS 10 =R
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1 IBEEERERELISE

FRESS CFS494MNSNA TCF226 20 #B
FRESS CFS494MNSNA TCF585S 20 #B
JEmEEs L350CM TENA12A 20 #B
SEEES L350CM TLGO04302JA 40 48
TILFI Y SK500 20 48
1E$E SR YM3454A 20 ¥
BWEIE 10 =
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2 1FEHEKERIET S

MEZEE=ILE &R 50 70 m
MEZEE=ILE ERTA 40 70 m
MEZEE=ILE ERTA 25 50 m
MEZEE=ILE ERTA 20 100 m
MEZEEE=ILE EBR—#& 30 20 m
MEZEEE=ILE EBR—#& 20 50 m
BEEXHERT SGP-VA EfA 65 REHY 1.0 &R
BEE%#E#E SGP-VA BA—# 25 REFY 1.0 @R
BEE%#E#E SGP-VA BA—# 32 REFY 20 &P
BEEXUIBT SGP-VA BN 65 RIEFY 1.0 &P
BEEXUIBT SGP-VA BA—f& 25 RBEFY 1.0 &FRr
BEEXUIBT SGP-VA BA—f& 20 RiBEFY 30 EFR
BEEXUIBT SGP-VA BA—f& 32 RBEFY 20 EFR
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2K\ 50 10 &
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REIE 10 =
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3 IFEHIKERIET S

ik =B E fERTA 100 30 m
mAZEE EfRN 75 120 m
mAZEE fEFTA 40 110 m
mAZEE EBR—#& 40 50 m
BRERiE#HE TMVP BRI 100 1.0 &R
BRER ikt TMVP E/MA 75 20 AT
BRER it TMVP fERTA 65 1.0 E&FRr
BRER ikt TMVP ErTA 40 20 AT
BRERiE#HE TMVP EBR—A#& 40 40 AT
BEEX VBT TMVP fERTA 100 1.0 &FRr
BEEXUIBT TMVP BTN 75 20 AR
BEEXUIBT TMVP fEfRTN 65 1.0 &Fr
BEEX VBT TMVP EfRTA 40 20 AR
BEER I TMVP BR—#% 50 20 @R
BEER I TMVP BR—A 40 40 AR
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Eik=; £ o1 =T 2 HfI {iff %8 &
7 BAIT{EIBE DC 150-150L 40 AT
7 BAIT{EIBE DC 125-150L 40 AT
7 BAIT{EIBE DC 100-150L 30 A
BEIE 10 =
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=3 £ o1 =T E = B fiff ) &
4 1BEHRZHIEISE
H ARG 328 10 #8
ATULAESUS) ILER BAR—#% 20 50 m
JLFE(SUS) 20 x 300L 20 #A
BRE% R SUS ER—#% 20 RIEFAY 1.0 &Ff
BEERUIBT SUS BRN—# 20 £EHY 10 ®&Fk
JNBRIT{EIHE DC 50 x 150L 40 fHFR
REIE 10 =
BEIZE 10 =
N E
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Eik=; £ o1 =T 2 HfI {iff %8 &

5 HRRIELIE

SGP(H) 25 05 m
SGP(H) 25 15 m
AR 25 10 1{&
XHEHT 10 =
BEIE 10 =
BERERES UX25 10 1{&
AP —T— 25 10 &
EREAIESE 20 10 &K
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B % FR it ¥k 2 Hf i %8 i

6 1BEZERRIEISE

INr—D I 7Y ESE AC-1 7.1/8.0kw 10 &
Nyr—UI7ar BN AC-1 Xh+ 45R 7.1/8.0kw 20 &
INYr—D I 7Y ESE AC-2 7.1/8.0kw 10 &
Nyr—UI7ar BN AC-2 Xh+ 45R 7.1/8.0kw 20 &
INYr—D I 7Y ESME AC-3 7.1/8.0kw 10 &
Nyr—UI7ar BN AC-3 Xh+ 45R 7.1/8.0kw 20 &
Ior—UI 7Y ESMEERER) AC-4 7.1/8.0kw 10 &
Nyr—UI7ar BN AC-4 Xh+ 25R 7.1/8.0kw 10 &
Ror—UT 7Y ESMEERER) AC-5 7.1/8.0kw 10 &
Nyr—UI7ar BN AC-5 Xh+ 45R 7.1/8.0kw 20 &
Ror—UI 7Y ESMEERER) AC-6 7.1/8.0kw 10 &
Nyr—UI7ar BN AC-6 Xh+ 45R 7.1/8.0kw 20 &
Ror—UI 7Y ESEERER) AC-7 7.1/8.0kw 10 &
Nyr—UI7ar BN AC-7 Xh+ 45R 7.1/8.0kw 20 &
Ror—UI 7Y ESMEERER) AC-8 3.6/4.0kw 10 &
Nyr—UI7ar BN AC-8 Xh+ 15R 7.1/8.0kw 10 &
Bz EI 80 &
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Ek7 £ R =+ ¥ 8 B i ] fi&
A RRE BR—#% 6.35¢ 520 m
AT BR—#% 952¢ 490 m
AT BR—H& 127¢ 520 m
A AT BRA—#% 159¢ 490 m
WEIELEZILE EWN—f#& 30 500 m
WEIELEZILE EBHN—f& 25 90 m
BWEIRILE=ZILEHT—) EBR—#& 30 110 m
EHRECHR EM-CEE 2.0-3 1030 m
EHRECHR EM-CEE 1.25-2 1030 m
7—X#R EM-IE 2.0 1030 m
)EIECHR EM-CEE 1.25-2 660 m
J\BRIT{EIHE DC 150 X 150L 40 fHFR
JNHAIFT{EIBE DC 100 X 150L 130 @FR
REISE 10 =
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Ek=) £ R i+ E B i i) ]
7 \BEMSEREISE
SR HEX-1 40 &
R HEX-2 40 &
SRR HEX-3 10 &
FOMMERE EF-1 10 &
FOMERER EF-2 10 &
FOMERER EF-3 20 &
INATT7> PF-1 200 ¢ 10 &
BRI OA-1 100 ¢ 10 &
RINAZIVE YR 150 ¢ 620 m
A %y 100 ¢ 50 m
)EIVEHR EM-CEE 1.25-2 700 m
#LET—R(SUS) 200 10 &
150 210 &
100 20 &
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Eik=; £ o1 =T = B {iff %8 &
7 BAIT{EIBE DC 175 x 150L 180 H&FR
7 BAIT{EIBE DC 150 X 150L 20 TR
REIE 10 =
WEREE 10 =
BEI=E 10 =
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Elik=2 £ 71 =T ¥k 5 Hf i ) s
D HERZKEGFEL

REFEEB 750 A

B H=3000 REHZEMHR 530 m

B H=1800 H—KJxI>X 235 m

FyYRE—5—Fk W=3.0m H=1.8m 34 B 10 4FR

ERIRERE 20 ~FR
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